normalized x? [[normaliz

1 - 0.08F—~
10 [Ny IEEEEEFEER-EEE N IR
: 0.06F
-2 .- o
| | 0.05F
. 3 Std Dev
10°Ep 0.04f,
10 _ 0.03F
: Enties F
: rvwme(:: 0.9286 0.02 Fl
107 ie. Std Dev_ E
: : 0.01H
oo il oo o o
. g FH
o
0.9
0'“0 2 4 6 8 10 12 14 16 18 20 o 0 010203040506070809 1
2 Prob(x2)
——— original_stepZ__ptlio )_etaZp0toZp5
DO KFi __ptlto1000_eta2pOto2p5
— D! ng ep2__pt1to1000_eta2p0Oto2p5
s DQM_fast_step2__pt1to1000_eta2pOto2p5
= DQM_pix€elCPETemplate_step2_ pt1t01000_eta2p0to2p5

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

< X2/ ndf >
=
00

i
T T[T [T [T T I [T TIT T

Ratio

1072

1 -1
AR(track, jet?



	Contents
	Page 1


